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Assessment

Chapter Test

Understanding Populations

MATCHING

Write the letter of the term or phrase that best matches the description.



1.
kangaroo’s role as a large herbivore on Australian grasslands



2.
woodpeckers eating at a birdfeeder



3.
an owl snatching a mouse from a field to eat



4.
cause of death that does not occur more quickly in crowded populations



5.
an orchid using a high tree branch as a place of attachment to receive more sunlight but not affecting the tree



6.
all the black squirrels living in a forest



7.
three lampreys attached to a fish and sucking its body fluids for food



8.
average age at which members of a species reproduce



9.
description of a large population of geese gathered in a marsh



10.
a butterfly pollinating a flower as it drinks nectar from the flower

MULTIPLE CHOICE

In the space provided, write the letter of the term or phrase that best completes each statement or best answers each question.



11.
The number of wild horses per square kilometer in a prairie is the horse population’s


a.
density.
c.
size.

b.
dispersion.
d.
birth rate.


12.
If over a long period of time each pair of adults in a population had only two offspring and the offspring lived to reproduce, the population would


a.
grow.
c.
remain the same.

b.
shrink.
d.
disperse randomly.
Chapter Test continued


13.
Which of the following species has the highest reproductive potential?


a.
rabbit

b.
elephant

c.
human

d.
horse


14.
Which of the following is not an example of exponential growth?


a.
rabbit populations after being introduced to Australia

b.
reindeer of the Probilof Islands after eating most of the Lichens

c.
a bank account that earns interest

d.
mold appearing on bread overnight


15.
The carrying capacity of an environment for a particular species at a particular time is determined by the


a.
number of individuals in the species.

b.
distribution of the population.

c.
reproductive potential of the species.

d.
supply of the most limited resources.


16.
Competition for food cannot occur


a.
between two populations.

b.
among members of the same population.

c.
among populations whose niches overlap.

d.
between animals from two different ecosystems.


17.
A bird that feeds at night and a bird that feeds during the day from the same flower is an example of


a.
direct competition

b.
mutualism

c.
indirect competition

d.
indirect commensalism


18.
In which type of interaction between species does one species benefit by harming another species but not killing it?


a.
predation

b.
parasitism

c.
mutualism

d.
commensalism


19.
Which of the following examples would be least likely to be considered a symbiotic interaction?


a.
A wren builds a nest in a cactus.


b.
A yucca moth pollinates and lays eggs on yucca flowers.

c.
A kit fox hunts and feeds on a kangaroo rat.

d.
Bacteria in a fox’s digestive system help it digest food.


20.
Which of the following two species represent a relation-ship that has coevolved?


a.
flowering plants and their pollinators

b.
foxes and their coyote competitors

c.
house cats and their prey

d.
rabbits and their relatives

Evolution is a change in the genetic characteristics of a population, so the parasite would have influenced the evolution of its host species through the process of natural selection.


17.
Yes, roses mate with the help of bees and other flying insects that transfer pollen from plant to plant as they search for nectar. Since flying insects can easily cross a wide road, a rose on one side of the road has a reasonable chance of mating with one on the other side and is therefore part of the same population.

Active Reading

SECTION: HOW POPULATIONS CHANGE IN SIZE


1.
b


2.
c


3.
a


4.
death rate


5.
The average number of births would equal the average number of deaths, so the growth rate would be zero. If half the population has two offspring each and the other half has none, the birth rate (0.5 x 2 = 1.0) is the same as if every pair of adults had two off spring each. If all members of the adult population then die, the growth rate remains zero.


6.
4


7.
1


8.
2


9.
3


10.
Negative growth rate is when a population’s average number of deaths is greater than its average number of births. Zero growth rate is when the average number of deaths equals the average number of births.


11.
In both negative and zero growth rate, the average number of births does not exceed the average number of deaths.


12.
The population would decrease.

SECTION: HOW SPECIES INTERACT WITH EACH OTHER


1.
Students may choose four of the following: ticks, fleas, tapeworms, heart-worms, bloodsucking leeches, and mistletoe.



2.
nourishment


3.
parasitism


4.
a


5.
b


6.
an organism alongside its food


7.
the practice of being alongside the food


8.
Parasites and predators both depend on other organisms for survival.


9.
A parasite spends some of its life in or on its host; parasites do not usually kill their hosts.


10.
The longer a host lives, the longer a parasite will have a source of nourishment.


11.
The host can be weakened or exposed to disease when it carries a parasite.

Map Skills


1.
1953


2.
50 years


3.
perch


4.
It will decrease again by 50 percent.

Quiz

SECTION: HOW POPULATIONS CHANGE IN SIZE

Matching
Multiple Choice


1.
c
6.
a


2.
d
7.
d


3.
b
8.
c


4.
e
9.
b


5.
a
10.


SECTION: HOW SPECIES INTERACT WTH EACH OTHER

Matching
Multiple Choice


1.
b
6.
b


2.
a
7.
d


3.
d
8.
c


4.
e
9.
a


5.
c
10.
d

Chapter Test General

MATCHING


1.
h
6.
b


2.
d
7.
f


3.
a
8.
e


4.
j
9.
c


5.
i
10.
g




	a.	predation


	b.	population


	c.	clumped dispersion


	d.	competition


	e.	generation time


	f.	parasitism


	g.	mutualism


	h.	niche


	i.	commensalism


	j.	density independent
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